Name:

Grade 2 Addition Challenge Worksheet

Add to find the answer. Work quickly!

A .29+ 13 = T.14 + 14 =
B.37+11= J.65+10 =
C.20+14 = K 17 + 14 =
D.53+15 = L.26 +9 =
E.25+10= M. 38 +8 =
F.15+9 = N.37+11=
G.21+8:= 0O.42+ 13 =
H.55+10 = P.54 +14 =

Score /16
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Answers

Grade 2 Addition Challenge Worksheet

Add to find the answer. Work quickly!

A.29+13=42 I1.14+14=28
B.37+11=48 J.65+10 =66
C.20+14:= 34 K.17 +14 = 31
D.53+15 =68 L.26 +9 =35
E.25+10=35 M. 38+8=46
F.15+9=24 N. 37 + 11 = 48
G.21+8=29 0.42+13 =55
H.55+10=65 P.54+14 =68

Score /16
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